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u P q 1 2 3 4 5 6 7 8 9 10 n 12
SUrsUL2Ph U2US ULusnrne X N - 16,731.6 = - 16,731.6 - - 16,731.6 - - 16,731.6
2000000}1. CLEUSPYU ELUUNKSLLP X S - 132,439.4 - - 241,424.2 - - 387,246.1 - - 566,757.2
(wnnn 2112600+wnn 2113000)
wjn pynul’
2112000|2. MUTSALULUL HruvUTLAPCLER X - - 49,079.5 - - 125,054.0 - - 201,028.4 - = 292,197.7
nphg’
2112200 | 2.2. Uppuwipht wyuspippnbiwlust npudupbnphbibn” utpuwgquws x (11,700 0) (11,700.0) (11,700 0} - (11,700.0)
dhowqquuplr hwqulibpunyeinitiibphg
21122202.2.2. Ywwhwnw) wpnwpht ywpnnbwlwl npwdwgunphbbp' 732200 - (11,700 0) - (11,700 0) (11,700.0) (11,700.0)
unwgywd dhowqquiht fugdwlbpunyeniiubphg
2112300 | 2.3. Ubpphl wwpipntiulyust npusdusgtinphbilin” uipuugdud X - - 60,779.5 136,754.0 - 212,728 4 - 303,897.7
Yuwnunwpdwl wy dulhuwpnuiliblphg
2112310|2.3.1. pupwghl ubpphl ywawnnbwlwb npwdwunphubp' 733100 - 60,779.5 - 136.754.0 - 212,728.4 - 303,897.7
unwgjwsd unwdwpdwl w)) Jwhwpnwlubphg, wyy ey’
211231112 3.1.1. whwnwlwl pnigbhg, x - - 60,779 5 - 136,754.0 - 212,728 4 - 303,897.7
wyn pynuf’
2112312|2.3.1.1.1. whwnygjwb Ynndhg wwindhpwlyws Swiuubph x 60,779.5 - 136,754 0 - 212,728.4 - 303,897 7
thnjuhwinnignud
2113000{3. U3L sLUUNKSLEP X = = 83,359.9 = 116,370.2 = 186,217.7 = 274,559.5
nphg'
2113100(3.1. Blwdnunubp ubthwlywlnieinhg x - - 68,218 0 - 98,815.5 - 143,657 8 - 213,885.0
2113130(3.1 3, qnyph Juwpdwlwinyzjmuhg bYwdnunubip 741500 - - 68,218 0 - 98,815.5 143,657.8 - 213,885.0
211320013.2. blwdnunubip wypwiptbiph dwwnwlwpwpmdhg b X - 8,319.1 - 10,493 3 - 27,091.5 - 353240
Swawnuzintiibinh Juinngnudhg
2113210(3 2.1. bywdnunubp wypwbptbnh dwwnwywpwpnuipg L 742100 - 8,319.1 - 10,493 3 - 27.091.5 - 35,324.0
Swnwjnueyndiibph dwunnignuihg
2113300(3 3 bywdnunubip nnydbinhg, nnquliptbphg X : 6,822.8 i 7.061.4 15,468 4 , 25,3505
1000000(11. CLAUUELE TULUGPE X i : 149,171.0 s - | 258,558 - - | 4039777 - - | s583,488.8
{nnn 1100000+ nnq 4000000)
wyn pyYnul’
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u f 3 6 9 10 1 12
1100000} U. CLRUBPY DUUG X 148,166.3 256,146.3 400,963.4 579,499.8
(wnnn 1110000+ winn 1120000 + wnn 1140000+wnnn
1150000+wnnn 1160000+wnnn 1170000)
win pYmd’
1110000 (1. UThUSULLP JUrQUSPNRR3NKL X 93,891.6 166,445.7 256,033.2 375,410.2
(wnn 1111000+ wnn 1112000+wnnn 1113000 +wnnn
1115000+wnn 1116000)
wyn. pynud’
11000| - Ugtvwwnnubiph wpluuwnwywpdbip & hwybpwéwplibip 411100 93.312.6 165,287 7 254,262.7 372,859.1
1112000| - Mwpglwwnpauiubp, ppuwdwlut fupwtunwndubp W hwannd 411200 5790 1,158 0 17705 2,5511
Yéwpbbp
1120000 2. BUNUSNREBBNRLLENP Y UNPULLLENR X 15,855.4 28,333.2 41,462.8 56,897.6
ALNLRREPNRYT
(wnnn 1121000+ 1nnn 1122000 + wnn 1123000+ wnin
1124000+ winn 1125000+ wninp 1126000)
1121000 2.1. prfubml[mllwb Swfuubp x 3,563.8 7,127.5 10,091.3 13,050.0
1121200] - Bubpgbuhl dwnwjnyeyntiiin 421200 171245 34250 51375 6,850 0
1121300( - Yndnibwi Swawjnyejniiibp 421300 325.0 650.0 975.0 1,300 0
1121400/ - Ywwh dwnwynieiniibp 421400 626.3 1,252.5 1,878.8 2,500.0
1121500( - Uwywhndwgpulwl dwiuubip 421500 900.0 1,800.0 2,100.0 2,400.0
1121600] - Snyph U vwppwynpnudubph Jupdwiwinieniu 421600 -
1122000 | 2.2. Dwnuynqulpul gnpéninmdbbiph qény bwhuuby x 300.0 600.0 900.0 1,200.0
1122100( - Lbpphl gnpdninnudubp 422100 3000 600.0 900.0 1,200 0
1123000 | 2.3. Muwydwbnugpuyhb wyp Swouynipynibbibph dbnppbpnid x 1,072.3 2,039.6 3,036.9 4,122.7
1123200] - <wdwlwpgsuyhl dwawgnyeynitubip 423200 604.8 1,209.6 1,814.4 2,4192
1123300} - Ugluunnwlwquh dwuliwghtnwlwt qupgugdwu 423300 1500 300.0 450.0 598.5
Swnwynysimbbp
1123400] - Stnbywinulwl Swawgnienitubp 423400 180.0 255.0 360.0 555.0
1123800 - Cunhwunip punyph w)) Swnwjnyejnutbp 423900 137.5 2750 4125 550.0
1124000 | 2.4. Uy dwubwqpypwlwh Swinugmipymbibbph danppbpmd x 2,908.8 4,363.5 6,545.3 9,454.0
1124100{ - Vwubwghunwljwl Swnuynipgniutbp 424100 2,908.8 4,363 5 6,545 3 9,454.0
1125000 (2.5. Lupwghl bnpngnid U wwhupwbingf x 1,562.5 2,288.0 3,187.5 4,913.0
(Swnuyniyeymbbbp b binyebn)
1125200] - Ubpbuwubph L uwppwynpnudubph pupwghly bnpngnud W 425200 1,562.5 2,288.0 3,187.5 4,913.0
wuwhuwwund
1126000 2.6. Uiniphlip (wyputiptiap) x 6,448.1 11,914.6 17,701.9 24,157.9
1126100] - Spwublywluyht Yngebip U bwgniuwn 426100 1,963.3 2,979.5 4,308.8 6,272.0
1126400 - Spwisynpinughl bynyabip 426400 3,855.4 7,107 11,566.2 15,421.5
1126600] - Unnnowuwwhwlw U jwpnpwwnnp Wyniyebip 426600 88.5 142.5 2041 236.9
1126700/ - Ybugwnuyht b hwbpwiht ubunh Yyngetin 426700 133.6 267.2 400.8 540 3
1126800] - Cwwnnily bywinwlwghl wy) Uynyebip 426900 407.4 814.7 1,222.1 1,687.2
1170000(7. U3L oukUbr x 38,419.3 61,367.4 103,467.4 147,192.0
wyn pYnud’
1172000 |7.2. Cwplhbp, wupguonhp JSwptilip U ypinydbp, npnbip x 36,017.5 58,567.4 100,667.4 144,392.0
lywnurwpdwt pruppbp dulpupnudibph Ynndh
Yppwngmd b dpdpubig bjupdudp
1172200 - Uy hwplbp 482200 24,367.5 46,667 4 76,667 4 108,455 0
1172300] - Mwpnwnhp J6wnubn 482300 11,650 0 11,900.0 24,000.0 35,9370
1176000 |7.6. Uy dwfuubp X 2,401.8 2,800.0 2,800.0 2,800.0
1176100] - W) dwtuubip 486100 2,401.8 2,800 0 2,8000 2,8000
4000000(R. N2 HPLULULLUL ULUSPULEP X 1,004.8 2,009.5 3,014.2 3,989.0

(1inn 1200000 + 1300000)
wyn pynud’




u ] q 1 2 3 6 9 10 1 12
1200000 PU. N HLLULUULUL ULShYLEMP GONY TURULE X - - 1,004.8 2,009.5 3,014.2 - 3,989.0
wyn pymud’
1210000 | 1. <PULULUL UPRNSLEN x - - 1,004.8 2,009.5 3,014.2 - 3,989.0
nphg’
1215000]  dwpswlwl uwppwdnpnuiubip 512200 754.8 1,509 5 2,264.2 3,019.0
1216000] - Uy dbpblwbbp L vwppwdnpnuwiubp 512900 250.0 500.0 750.0 970.0
3000000}11l. CLAUVUGELE HUUTULUL UhRNBLEPP H6DHh8hS X - - 16,731.6 16,731.6 16,731.6 16,731.6
(CUdBLARCY)
(wnnn 1000000 - winp 20060000)
5000000(1Y. 4%63h8hSh HhLULUULNNPUUL UARSNRPLENE - % 16,731.6 16,731.6 16,731.6 - 16,731.6
5124000 | 2.4. Ywquwlbpynyeywb bipbph Shtwbuwnpiutit x g / 16,731.6 16,731.6 16,731.6 . 16,731.6
mnnnn pupbuliqph dhgngibp ) /
5126000 | 2.6. Cwpdbiipne durdwbwljuzpgutinid uqiulbpuynipeyut x / : . . B . =
husgdh wquup dhenglibp a1 4
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